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] 14,600,000 | 100.00% 14,400,000 100.00% 200,000  1.39%
SEE3A 14,600,000 100.00% 14,400,000( 100.00% 200,000 1.39%
JIEFEE 3 14,600,000 100.00% 14,400,000( 100.00% 200,000 1.39%
SEIpH S 2,113,000| 14.47% 2,113,000| 14.67% o 0.00%
E=sdII=SSEA 1,885,000 12.91% 1,785,000 12.40% 100,000 5.60%
HASFRUFAHNHEIIZE 880,000 6.03% 880,000 6.11% 0 0.00%
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ZOIASTIR UM E D) 1,758,000 12.04% 1,758,000 12.21% o 0.00%
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ZII0IEEZAAHE AL 844,000 5.78% 1,444,0001 10.03% A600,000( A41.55%
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SSANAZEASEEA 4,532,000 31.04% 4,032,000 28.00% 500,000 12.40%
X==ALSSE 2 A 2,387,000 16.35% 2,187,000 15.19% 200,000 9.14%
JIBtAIEEE 3 201,000 1.38% 201,000 1.40% 0 0.00%




